Boston Gear®

Precision Gearhead Motor
Mounting

P-3048-BG Installation Instructions

Motor Mounting
| Instructions

Boston

Gear

a division of Altra Industrial Motion



Motor Mounting Instructions

Double-check the motor and gearbox size. Remove the plug on the adapter plate.
Clean the mounting surface. Rotate the set collar till the bolt is lined up.

a. Remove motor key. .
b. Insert balance key. yCOrrecT Installation. Check motor shaft size and

When installing on flatted shafts, insert bushing if necessary.

be sure to align the collet gap over
the flat and the set collar bolt

5 perpendicular

to the flat.

Tighten the mounting bolt (including washer)
Attach the motor. Tighten to 5% in 1~4 order with torque wrench to specified

torque according to recommended list. torque. (See Table 1)

Tighten the set collar bolt with torque
wrench to specified torque. (See Table 2) Tighten back the screw plug.

2 P-3048-BG Boston Gear® Precision Gearhead Motor Mounting



Table 1 - Tightening Torque Recommended for Motor Mounting Bolt

Bolt Width Across _ Strel!gth 8.8 _Stren_gth 10.9 _Stren:qth 12.9
Size Flats Tightening Torque Tightening Torque Tightening Torque
(mm) (Nm) (In-lbs) | (Nm) (In-lbs) (Nm) (In-lbs)

M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19

M4 x 0.7P 3 3 27 4.1 37 4.9 44

M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038

Table 2 - Tightening Torque Recommended for Set Collar Bolt

Gearbox Size Mot([))ri:haft Bolt Size Wldtglaﬁ(;ross Tightening Torque
(mm) (mm) (mm) (Nm) (In-Ibs)
PL2042 / PR2042 1 stage <11 M3 x 0.5P x 8L 2.5 2.1 19
PL6042 / PR6042 2 stage <11 M3 x 0.5P x 8L 2.5 2.1 19
PL2060 / PR2060 1 stage <14 M4 x 0.7P x 12L 3 4.9 44
PL6060 / PR6060 2 stage <11 M3 x 0.5P x 8L 2.5 2.1 19
PL2090 / PR2090 1 stage <19 M5 x 0.8P x 14L 4 9.8 87
PL6075 / PR6075 2 stage <14 M4 x 0.7P x 12L 3 4.9 44
PL2115 / PR2115 1 stage <32 M6 x 1P x 16L 5 17 151
PL6100 / PR6100 2 stage <19 M5 x 0.8P x 14L 4 9.8 87
PL2142 / PR2142 1 stage <38 M8 x 1.25P x 20L 6 41 364
PL6140 / PR6140 2 stage <32 M6 x 1P x 16L 5 17 151
PL2180 / PR2180 1 stage <48 M10 x 1.5P x 25L 8 80 709
PL6180 / PR6180 2 stage <38 M8 x 1.25P x 20L 6 41 364
PL2220 / PR2220 1 stage =55 M12 x 1.75P x 30L 10 139 1232
PL6220 / PR6220 2 stage <48 M10 x 1.5P 25L 8 80 709

Note: Holding torques must be bigger then values shown above. Bolts can be tightened up to 20% higher for increased holding torques.

Boston Gear® Precision Gearhead Motor Mounting

P-3048-BG 3




Warranty

Boston Gear warrants that products manufactured or sold by it shall be free from defects in material
and workmanship. Any products which shall within two (2) years of delivery, be proved to the
Company’s satisfaction to have been defective at the time of delivery in these respects will be
replaced or repaired by the Company at its option. Freight is the responsibility of the customer. The
Company’s liability under this limited warranty is limited to such replacement or repair and it shall not
be held liable in any form of action for direct or consequential damages to property or person. The
foregoing limited warranty is expressly made in lieu of all other warranties whatsoever, express, implied
and statutory and including without limitation the implied warranties of merchantability and fitness.

No employee, agent, distributor, or other person is authorized to give additional warranties on behalf of
Boston Gear, nor to assume for Boston Gear any other liability in connection with any of its products,
except an officer of Boston Gear by a signed writing.

Boston Gear
ABoston 14 Hayward Street * Quincy, MA 02171
617-328-3300 ® Fax: 617-479-6238
Gear www.bostongear.com
a division of Altra Industrial Motion

P-3048-BG * 03/07 Printed in USA




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


